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Which of the following waterways has been
declared by the Government as the Natlonal

" Waterways N.W. No. 2?7
(1) The Ganga river between Alfahabad and

Haldia (1620 km)
(2) The Brahmaputra river: between Sadiya
' and ﬁﬁuﬁn iBQI km)

'(3). The West-Coast
(Kottapuram — Kollam, Udyogamandal and

- Champakkara Canals — 205 k)
) Specified Stretches of Godavari ~and

canal in - Kerala.-

. Krishna rivers along i with
. Kakinada — Puducherry Stretch of Canals
(1078 km)

(5) Not attempted

Selling off a part of the equity of a Pubhc Sector
‘Enterprise (PSE) to the publicis called |
(1) Nationalization |

(2)° Disinvestment

. (3) Delimitation

4) Communisation

(5) Not attempted -

In a Market Equilibriuﬁ; figure, if the Demand

“durve shifts leftward and the Supply curve shifts

ﬁghtward simultaneously, what is the impact on

: Equlhbnum price ? -,
(1) Decreases

U2 Increaees

(8) 'Remains constant
(4) Remains undecided

' (6) Not attempted

| v oAl

- India’s first nationalist art school was established
- in which Umverstty in 1919 7

(1) Ahgarh Muslim Unwer51ty

o m‘.@}m!’ Visva-Bharati UmverSJty

(3) Banaras Hindu Umver51ty

(4) A]Iahabad University
_(5) Not attempted
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Whic}_l among t}}e following was/were feature(s) of
‘Subsidiary Alliance’, a system devised by the

. British in colonial India ?

(a) It was devised by Lord Wellesley.

(b) A British army contingent was to be
- stationed in the territory of the ally.

(c) The ally could never get into agreements

with any other rulers,

(d) The British were to protect the ally only
. from the internal threats to power.

Choose the correct option from the codes given

- below :

(1) Only (b)
(2) (a)and (D)

@) (a),(b) and (©)

(4) . (a) and (d)

- (5) Not attempted

Which among the following countnes would be an

~ example of ‘coming together’ federation ?

(a) India

(b) USA.

(¢c)  Australia

(d) Spain

Choose the correct option from the codes given

' below :

(1) (a)and (b)
(2)  (b) and (c)
(3) (a)and (c)
(4) (b)and (d)

~(5). Not attempted

- Which among the following staternents is/are

correct with regard to the amendment of the
Indian Constitution ?

(a) Parliament has the power to amend any
part of the Constitution except for Part IIL. -

(b) A Constitutional Amendment Bill can only
be introduced in the Lok Sabha.

(¢) The Constitutional Amendment Bill once
passed needs the assent of the President.

Choose the correct optmn from the codes given

_below :

(1) (a)and(c)
(2) Only (b)

~(3) Only (c)

(4) (a) and (b)

(5) Not attempted
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10.

B

In Olympics, India ha
s won the

‘number of Gold Medals un der Whmhmammum

since 1900-to 2020 ? category

(1) Shooting

(2) Hockey

3 Boxing.‘

(4) Wrestling

(5) Not atterﬁpted -

What was the slogan of the ‘Patient Safety Day’

which was observed on 17th September 2022 7

(1) “Health Without Medication”

(2) “Meditation Replaces Medication”

- (3) “Medication Wiphout Harm”

(4) “Health With Yoga”

() Not attempted

Which of the following plastics is used for making

electrical switches ?

(1) Polythene
«(2) PVC

(3) Bakelite
(4) Teflon
(6) 'Not attem.pted

What is the name of the plant group whose

plants bear naked seeds and are usually

'peren.nia'l, evergreen and woody ?

(1) Gymnosperms

(2) + Angiosperms

. (3) Pteridophyta
‘(4) Bryophyta

(5) Not attempted
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* Which of the following is the correct sequence ?

(1) K110byte > Petabyte > Yottabyte >Megabyte
(2) Megabyte > Kilobyte > Terabyte > Gigabyte

(3) Exabyte > Petabyte > Terabyte > Gigabyte

4) Petgbyt .2 ZEt‘tabyte > Gigabyte > Terabyte

" (5) Not attempted

G(;ogle, ‘Bin'g and Yahoo are examplesof ___
 Search Engines '

(2 Mobﬂé Appiicafioné -
(3)

@

Software
Firewalls
Not attempted

Which one of the following statements is correct

about Uniform Resource Identifier (URD) ?

It is a set of rules which is used to retrieve

(1)

‘linked web pages across the web.

(2) It is a unique address or path for each

resource located on the web.
It is a unique value associated with a
network adapter.”

It is a unique address that can be used to
uniquely identify each node in a network.

@

Not attempted

- Which of the following is used to ensure accuracy

periCo (Zﬁﬁﬁ) asn ﬁm:ﬁa 27 : ,'and.reliabilit'y of data in the database ?
(1) e = ; (1) Database Schema, . e
@ weRmERE. -G ."Df‘ltaBaSe-_'fGo'#gtmint
(3) maﬁ',asmﬁ . - (3) Data Di_ctionary _—
(-_4)I mﬁ’g TR | 4) Data}laase.'l.nsténc;g :
- (5) IW Téfé-‘ﬂ arEd (5) Not attempted I
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16. ﬁ‘mm‘BLUNT’ amz:rae‘muwe% EFﬁW 16.

B

‘BLUNT is related to 1BuTn’ in the same way
§

‘SHARP’ %1 69 fred g ? ‘SHARP' is related to . ? .
(1) HspaR ' (1) HspaR = 21. fefe
(2) PraHe . (2) PraHs
(3) hSaPr (3) hSaPr el
(4) AhSpR - (4 AhSpR @
(5 IW T8l 21 wTEd ~ (5). Not attempted o
17. forg 9% ‘ANGLES’ W?ﬁm ‘GNASEL’ ¥ 2, 3-{,& 17. ‘ANGLES' is related to ‘GNASEL’ in the Sam @ -
7R ‘SQUARE’ %1 Gae fhad g ? way as ‘SQUARE is related to_?_ i
' (1) UQSERA ’ @D UQSERA
%) UQSARE () UQSARE &
~ (3) USQERA o e @) ' USQERA S 22. azi %
(4 UQSREA . 3 @ ;IQSREA : el
(5) IR T < =R " s R atterapted ;;'éq‘_'q‘
18, et & o 98 7 Hifm | 18. '.Find the od_d dne.out. _ -
@ X Tﬁ (1) Auditorium — Chair
5 - ngiﬁ 6 o (2] Petal Flower '_ '
(). = - & o (3) Finger—Hand .
@) et — & '(4) Brick-Wall -~ s
4) & -dEr - (5) Not attempted
(5) IW
) " ?@fﬁmﬂﬁﬁ " e 19. -Select the combination of numbers so that th
19. @ Fex e w1 9GT HINY forren HFER el Bl ~ letters ‘arranged accordingly ~ will form ¢
aﬁf?ﬂamqﬁ@@mwmmﬁ_: ., meaningful word : 1 AG 1w
G ' 3 NAEHR : ;
1NAEHR_=- ¢ i o R S @ ¥
23456_' d .28 47°65-.63% U4
(1}5312 ' £ Ol Sl 53.‘2_\ 3) &
S @ 5382146 G @
© 2’3’1’2'5'4 3) 531,264 2 't’y“f By =
®) ;ﬁz,ﬁ, 2,41 . (4) 3’ 5,6, 2, 4,1
20, XY'Z'A %Fﬂinga . (8) Not attempted gg, ﬁﬁﬁ?ﬁé
dn, CQRg . j i 3
- ) Waﬁ'{ ich o 90011’1 is T eng ) 921
g’ y g 9 G ﬁq%@a 3 ; element which is exactly in the middle of t _
() N T given sequence ? @ 1
3) A ’ e B : . i
@ y a M- (2) 17
®) 3 o (RN 8) I
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@ﬁnd the odd term out.

conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
Decide which of the given
conclusions logically follow from the given

statements. 5
\ : D
Statements :  Some plates are spoons. % 5
" Some bowls are plates. =
. ‘\‘//
. All spoons are bowls. -

(I Some plates are bowls.
Imn

(I1I) -

Conclusions :

Some bowls are spoons.

Some spoons are plates.

(1)
(2)
3)
@

Only I and II follow
Only I and III follow
Only I and III follow
All 1, II and III follow
Not attemptéd

Which number will come in place of the question

23.
Y & : - mark (?) in the following numerical series ?
(1 1729 1) 1729 o
'@ 1728 @ 1728 ML
y ﬂLﬂ/ f,

(3) 1500 (3) 1500 -

(4) 20736 (4) 20736

(5) Iaw =&l & =TEd (6)  Not attempted

TF @14 % fe70 TUT™ [ SPACE FOR ROUGH WORK

b, 15, 2Qz 24, 256 T
‘ s ‘D 2\ \
o R Rom ey
2 20 ° \ 0 1 Ll\
; A3
24 0 A
3 : ’f\"\"ff\' ; S" <
4 25 §
(5) Not attempted
Three statements are followed by three
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f a restaurant. Opg
4. You are the owner 0 af
24 ST Y e § | e R0 T oys met with @ minor actidey | s ¥
' T IS v ) seeard #§ A gsfzﬂ'l ushing to deliver the food on time. He ne, 8. y it
R 81 ST 2 | 58 5 ot % o B IEEEA & [ g5 Gays, Which of the following actions ynul e |
e Freaffas & - e w01 7 take ? ' =iwere. faat
1 Iy Herl & e 3 1 (1) You will terminate him from the semItQE sffen fir
@) ¥ 3F 5 Re ¥ fae fiefaa = K (2)  You will suspend him for: 5 days. _ Ioered & ?
to go on leave
@) T I 5 B9 F R o g‘é q I h (3)  You will ask him to g . W‘thﬁut a5
o=t : for 5 days
4) NI 5 i % wdaw s@Hw A iR IS (4)  You will gwe lum pa.ld leave for 5 daarn (2) 210
. fafercan = =1 sft yyram a%?l | ' o will also pay for medical expenses @). Bap
- 6) I A I = : : (5) Not attempted
. (4) 300
25..‘5(!15 LA © [Tallll o | ) :
A ‘B’ C ‘D E aﬂ—{ F’Eﬁmﬁﬁg | ‘C D ﬂﬂ%’l 25, ‘A’, ‘B,,_ KC?, ‘D,, Dl a.n.d B are six persons, ‘C -
TINTRIER B AR D T Y & B | older than ‘D’. ‘A’ is the youngest. ‘B” and 1, {5_} '
B ﬁ'ﬁ?ﬂ% | 'CPFHABRIR | ‘B’%El% FHE? of equal age. ‘B’ is older than ‘E’. ‘C’ is you
' ‘_ 1) cs3kD ~ than F’. Who are older than ‘B’ ?
@) C3RE . (1)° CandD - 29, Afg THET T
(3) FaiRE. (2 CandE C)OOC)@( AT ‘old a
4) F3kc (3 FandE - Ny ?ﬁtﬂ:ﬁ@
- ' . . ot
L ® mqﬁiama@ @ FandC = o s
- @ Not attempted
26. ﬁﬁﬂ%rﬁaaa@rw’g@mﬁ‘x’%mqtaﬁﬂﬁ ' ' : (&), pa
_F@T amafy 2 26. ' Which number w1ll replace %X’ in the Qir: _—
0,7, 26,X,124, 215 - - numerical series ? : '
(1) . 60 ._ val’ 26, X.' 124, 215 (4) na
2) ' 65 (1 60 3ty :
. _ | RV SEVERLE PR O A
(3) .62 @ 65 B Yy 2By Y :
. B _ : SR AL S R -
4) 63 @) 6a R _
) mqﬁhmﬁ GRS 30. T gz =
3 T ’ H ¥ | -] (5). Not i ; tad. \
.27-\:ﬂ%ﬁqua;a~uﬁwmmmm;ﬁ L SRS mpedl ?
Iﬁnﬁmqﬁ TR 2% Bing out the word wpic can be fo - L H
- SUPERVISION Gl | . the letters of the given word. I'Ined by usm -
(1) RESIGN - - SUPERVISION -
(2) POISON (1) RESIGN 3
@) REVISIT | "(2) POISON
4) NERVOUS . | (3) REVISIT @ ¥
(5) SR A Fmumy Wi | (@ ENERVOUS! By
RAMA/A1/Page8 - |U (5) Not attempt
- - pted _—
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; m%aﬂﬁﬁ%ﬁmm 100 ==t 1 s w4 | o

o fata e SR A | g FE 70 = 9 d;atrlbuted equally among 100 chtldrcn He could
e foafd T HH GRS Gl F 3 AT | dlStI‘IbutO to 70 children only 80 t,hat, each child
s Ba 85 | B $ i g Ry wiwee

On. Ajay’s birthday, chocolates were to be

'got 3 chocolgtes chra‘ Hnw many total

il e : chocolates were available for distribution 7
@ 700 ) 700 X
I 210 I ' OW? (-H\‘
(e 4% (2 210 . | =
(3}. 900 - (3) 900 | _ .-)_.,-vh/ e
Ve (:,1' s
" (4) 300 _ _ gmx:‘FV“ 2 A -
. o (4) 300 | T e e T
_ | _ : o %
) T - (5) Not attempted e .

9. qﬁ{?ﬁsﬁ@‘mﬁﬂﬁ over aud above’ #i ‘da pa ta’
3t ‘old and beautiful’ %I ‘sa na pa’ feran 9 2,
;haﬂehizwﬁ and’aﬁ%am%@m? :

29. In a certain code language ‘over and above’ is
\';fritten as ‘da 'pa'ta’ and fold; aqd beautiful’ is

written as ‘sa na pa’. How is ‘and’ written in that

- (D) da s e ey o8 3R L ey - code language ? : ' oo
" (2) pa : - . @ da. Y, _
4 na S , e | —gg) ta.

(5) 3 T & = L OV e

_ . - (5) Not attempted
30. ﬁﬁrqamqqush Wﬂﬂ%ﬂiﬁﬁmw

: 30. Find the odd one out which is coded differently.
(1) HOPE : EHPO % '
_. - () HOPE:EHPO
@ T :ET .
“) FUNEETNU (2 TUNE:ETNU
(3 . ] ] . ' d N i

| ) MORE : ERMO (3  MORE : ERMO
(4) PLAY: YPAL

(4) PLAY:YPAL (,\
®) I 7 T = - Fa™ | (6) Not attempted ’<\/ _
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The closest approximation of the By

31.
product . | ot A
a1 et queea s 24 09333 x 025 x 0499 x 0125 x 24 38
- 03333 x %0-25 x 0-499 x 012 " : - e
w1 frpean A & - | ; s B i
| ¢ W = : s b w
/ T b
@ . L ¥ WA 8 0/1/5/ v//g\l“’ )
8 i ,X/{()‘{- 3 g% + \,.,-a“ (2
X 5 , -3 ) 3
3 £V @ 7 © r)& L \f'ﬁ &)
@ 7 ' :’cﬁ* ¥ 1. -t xﬁb
4 NP £ g '7.(;: W \, @
@ > A T @3 Rl ®
' 8 @
, 2 L3
@ Z 5& A i : ge. A%
= 3 "(5) Not attempted L
(5) - e FEl & W - g LR o .\
' e L s ARl W g, If x is a 3-digit number and VIS 2 my .
82, A xTH 3-3@11?-1@‘% 3ﬂ1 y,xé?m x-¥) 3 obtained by permuting the d1g1ts. of x &, e
79 § wa A Tl H@né’ e ' manner; then (x — y) is always divisible by: c W
@ﬁgﬁaﬁ_: ° (1 4 ' ]s:*;?"@?" )
(1 4 @- 6 - 3)
@ 6% @ 9 ! ij C. i
(3 9F 4) 12 ' _
@) 128 (5) Not attempted o )
(5) IW qﬁi:nﬂ'l'éa ; 33. The sum of two numbers is 45 and L a7 4
33, 2 G w1 AMEA 45 B TN IR HW UTRe difference is one-ninth of _phe sum. 'I('hen f 9 s
gt o | G W LOMA: LOMis: s L,
(1 100 i 8 R i -lgﬁ AN i‘\r i
@ 150 (? ;do P gy B
@ 200 e ' Y S 2
4) 250 (4, 250 ' ™ T
T ®) e 7 TR (5) Not attempted = _ ¢ (3
R | S . (4
; : : ..~ |34, The traffic lights at three different signal &
34.. B w W"Eﬁ z-ﬁqﬁﬁqa ﬁ?ﬂﬁ@@;ﬁ iR change after every 45 seconds, 75 seconds” (
wrft & 4.5 m’,% ﬁﬂ?gﬁ'iﬁ A S & w| 90 seconds respectively. If all’ ch&»
we @ & | AR T A A T 20 0 15 W R simultaneously at 7 : 20 : 15 hours, then thef® gg
et &, @ owrel) I R fRan a9 T W w7 next change again simultaneously at :
_ a‘é . e 3 - ,tz\ﬂ |
(1) 7:28:00 ' : (1) 7:28:00 hours -\ -
(2)° 7:27:45% (2)  7:27:45hours % § L\f
(3) 7:27:30%2 (8) 7:27:30hours | A 4 -
@ 7:21:509 - 1 (4) 17:27:50 hours A\ A
(5) I T T e (5) Not attempted t : . T
_— T 3 ——" RAM
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B | o - LK G
PR = i \(
S \( ) ; o - _.T
’ /\~ h}? J A-.‘A\‘.\%\ \rJg_/é'\:,}. /\( -f\.
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A 2 A £ o™, B & AT § 10% aferes % dem B Y| 35. Ifthe income of A is 10% more than that ofB and
s, C 1 9@ 8 20% F R, A sy, A;Bwnc|  the income of B is 20% less than that of C, then
£ a # 3T 2 the incomes of A, B and C, rcspectlvely, are in
' the ratio : “
‘ " -8 =]
@ =10 g (1) 11:10:8 c:.,a,\"yu Ys/‘\
@ 22:20:20 (2) 22:20:25 \th )\ﬁ(
10:9:7 A g e
@) V- . (8) 10:9:7 ™ _ \;:/
(4) 22:18:20 (4) 22:18%25 . ("
: / : ’ )
(5 mqﬁ%m : - (5) . Not attempted W ‘fu
. g
. . n'd
36, A1 X * tﬂ"R W WT?T | 33 3'5‘ i st tn?{ 36. Mr. X has some money with him. He has to
_ i@ ﬁ =3 a; 1T A Tsﬁ“d?ﬂ T-anﬂ?l'l distribute this money among five labourers in the
: 2 3 475 ratm g “ L }— l What is the minimum
g,mmwﬁmﬁmﬁma—.ﬁw | 2.8 435, T
: ﬁq@[ g?aﬁ Wqﬁrﬂﬁ g@-[ b m Sl a ?2. ' ‘ amount he should have so that each labourer
3z % gets an exact number of rupees ? \6E 2
’ (1) % 358 Y NEEE
_ ‘(1) ¥ 358 W
@) T 420 _ S (S
: . @ <420
® | 512 ’bp“ r——
(4). 599 - ... (4) ¥ 599
(5) I qé’[ é=n ”EEI . (5) Not atterﬁpte'd ;
37. dF RS m % | 51 W\”ﬁ * SR 37. There are three positive numbers. One-third of
‘@ﬁmé H’ﬂ'@t El'sp[ e § 8 &H 2 | 599 B H'@Tr the average of -all the three numbers is 8 less
A @l g Eﬁﬁ e w1 3ﬁ'€iﬁ 8 %1 Eﬁ'@t a@ than the greatest number. The average of the
R’@ﬂ'ﬂ‘l% 9 - .smallest and the second smallest number is 8.
. : What is the. g'reatest number ? .
(1) 9
@ 10 L WAL 8- T
@ 11 @il .L<, "
EC) : AL e Sl BK -
F S VRS 4) 14 o=
(5) W?ﬁﬁiﬂn%nzﬂ . (8) * Not attempted ’\&% . "y
ol B | - il RS %S
48, (Jl33\lx3216 + 3729 +§/_) ERER ’é ' |s8. (Y1331 x¥216 + Y735+ Y64 ) isequalto:  ~
D 1369 " - @ 1362 L ax A
(2) 79 @) 79 i T .
A - (3) 1482 (:‘:}:\
——-—-@lﬂiﬁf - i. (6) Not attempted
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- 40,

: 41;

42,

; ﬁw‘cﬁ a9 ?

(1) ¥ 21,000 ?‘/3&
(2 22500 4 ﬁ*f (){'2’
(3) . 25,300 ¢/ o
© (4) T 25800 % \é,\ “5

(5) IW e T 9T Y X

(M 5:11 "2
@ 5:6 \*2’\60 M%
(3) 6':'I5 - \? '

. (4) 21175 ﬁy
(5) ImA R

= A e sl A aﬂtB%w%Ww

& A @ ? R . ’{b'
@ eioors © e B e g,
@ ¢1,192 AP
‘ 1 P ;\9 ny ‘81/ :
(3) ¥ 1,857 . o R T Ly
() 71,928 s V
(5) wqﬁhw g tﬁ'k-
" ‘\!' -f\)t/b\'

R T 20% i w A T, @ e A A PR
ww%mwa%ﬁm@ﬂmgmﬁ%‘?

‘A Y T 38,000 T T SANR Iy A | 5 W
ag T 55,000 %I gt &M w B A Hft 3@ =R A

Join Telegram Group "HaryanaJobs in"

39. T Wiz w = 18,700 ¥ a9 W, o ARTE A
: 15%ﬁaﬁaﬁé|15%m%%ﬂaﬁmqﬁ_

39

_\/_

yaw fere | 9 % o7 & T 22,000 F1 Fe AT GIA |

141?1 ﬁwwsstﬁ a»—rnéésqmaﬁaﬁmsm

g’ﬁ%wﬁmm@ww?muﬁmtﬁ

42.

40.

'_ )

T

When a plot is sold for ¥ 18,700, the OWne,
15%. At what prlce must the plot be Sold ,

to gain 16% ? U’
(1) 21,000 & \%(@
(2) ¥ 22,500 -'1

_ N Y
(8) T 25,300 {
Ak A

(4) T 25,800 K

(5) Not attempted

If an article is sold at 20 percent profit,
which of the following is the ratio of its COst

to its selling price ?
' St
q2) "6:86 “
(3) 6:5 { L
(4) 11:5 _ =
Not attempted

L

W A started a business investing ¥ 38,000, ¢

5 months, B joined "him with a capita
T 55,000. At the end of the year, the total p
was ¥ 22.000. Which out of the following is
"appro:;imate difference between the share

proﬁts of Aand B ? I . °©
(1 71,007 ' g ﬂ,
@) 1,192 - r
_ xS

A\ (ST L R
»%/‘(4) T 1,928 aS @ S
- i@ Newaftempted \?\S;{ A 9"
:‘( ) ot a Iemp e ‘ %//\ . '/Yu

The "cost of a solid cylinder of radius 14 m
: height 3-5 m, when, the cost of its metal is L

per cubic meter, is :

W, 100508 (1) T1,00,208 \\3\%'54/
2 %1,07,800 2 =‘F‘. 1,07,800 vf@*
(3 7 1,08,000 (3) % 1,08,000 " o VV
@ % 1,09,800 ‘ (4) % 1,09,800 {wf
(5) I A& e ey '(5) Not attempted ' o /\f\
RAMA/A1/Page 12 % &1 % forg o / SPACE FOR ROUGH WORK (\4"/“*’\ R ot 57
. | S8
0 & A : {:v “\ A
ol v‘/vﬁ\‘* 5/ 'V//r ol ;,j %
0 EPT ,:(oe_g"’\* .
7 gl S e B
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lzsgﬁrﬁ?ﬁmﬂﬁm?l%ﬁﬁrﬁ?ﬁumaﬁw
Eﬁmﬁwzﬂuﬂmﬁmﬁl 1:9°%

sy 3 T T | R o e v 153 vy
e 2, a}eﬁaﬂmﬁmwwﬁr%ﬁmwﬁ
3 |

@ 716950

(@) 17000 - Sk <

(3) 17550 2E /\6 1 -
W T18000 . \ / '

) W’fﬁ@aﬁa D”%\/‘ -

o B i W ER B e IR ogEE s h
s &1 TR 8 : 5 2 | AR e I stk g

for o 2, 1 98 7 R o o g | |

: _m?

urh

45.

(5)
ﬂ i=n =TEd
RAMAA Page 13

¢V

@

- (4)

(3)

52% : : ,"_.'I‘?.: ] -
i T AR © [
5 T
80fer . y &
1047 )

(3)

@Wﬁrmmm?aﬁﬁgﬂ'vﬁ@f"ﬁ%'
ﬂ’éﬁﬁﬁaﬁﬁwgﬂ@awﬁ"

189§
219§
38 7
Q7 .

(1)
(2)

(4)

43.

44.

45.

@

.(5}

Tea worth ¥ 126 per kg and 7 135 per kg are
mixed with a third variety of tea in the ratio
1:1: 2. If the mixture is worth ¥ 153 per kg, the
prico of the third variety per kg is :

(1)

7 169:50 p
. )
(2) ¥ 170-00 \ -t \
)r

z 175-50 \ VA
4) ¥ 18000 A
(5) | Not attempted

] 1 ".‘(

A man and a boy together can do a certain
amount of digging in 40 days. Their speeds in
diéging are in the ratio 8 : 5. How many days will
the boy take to complete the “;ork if engaged
alone ?

| v«\*\ﬁ =Wz

(1) 52 days

@ 6.8_déys '\'.c('. Y~
(3 80days «
(4) 104 days '

Not .atte'mpted

A sum of money at simple interest doubles in

7 years. It will become four times in :

(1) 18 years:
an..(;V Ay %P7
21 years . (¢ R
. \ =
(3) 38years ¢ L.,Jé'; ‘::&_;"\__ ¥
T =al
B
(4) 42 years . ¥o
(5) Not attempted 1
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49.

Read the following passage carefully and answer
questions 46, 47and48 :

India is one of the oldest c1v111zat1ons of the world
which offers a kale:doscope of cultural experiences. The
country has a rich heritage and numerous attractions.
It stretches from the snow-capped Himalayan peaks to
the tropical rain- forests of the south covenng
32,872,263 square kilometers. It is the world’s seventh
largest country, distinguished from the rest of Asia by
‘ mountains and. the sea which gives the country a
distinct geographical identity. India showcases a
variety of hentage resources crafted hundreds of years
ago from huge hentage sites' to pnstme sea-beaches.
Tourism contributes to substantial economic, soclal
cultural, educational and political development that
_ generates both dlrect and mdlrect employment

Tourism as an industry also contnbutes to our
country’s ]

(1
@

- 46,

populatlon and emp]oyment

agnculture and rel1g10n
gt

l...-\

"((4) : rehgionand statistics.
(5) ;-Nc‘.t-a'ttenipted- :
- 47, Bes1des the World’s oldest (:1V1hzatlons, Indla is |
also the world’s largest country
(1) “third - R @ 5
(2) fifth
i B RN
@ seventh sl
L5 ,Not,attempted
-

_ Fmd out a word from the above passage whlch

means ‘a country’s history, traditions and culture

|51

50. -

L ®

BN}

52-

N

Choose the word which is opposite ; i
the word underlined. S

“Earthquakes are frequent in Japap, »

(1) e:_ctinct_
(2) unusual
(3) few
@) rare
"(5) Not aj;tempted

Choose the word which is opposnte in mg
the word underlined.

“Sheé’is slender in ﬁgure.”

< (1" strong_ '
(2) frail

3 stout
@ slim

Not attempted

Choose the alternative which best éxpres;
meaning of the underlined idiom.

‘Her speech is always full of tall stories.

(1) long tales
(2) _heroic stories
 (3) exaggerated tales
4) reali_séic stories
- Not attempted

In the following _question,. out of th
-+ alternatives,

choose the one which @
substituted for the given sentence.

“An apartment building in which each ap¥

is owned separately by the people living io!
etc’. "~ also containing shared areas:”
1) lde?t}ty | _ . : @ Qondommmm
(D Betitage .5 D R ko ~(2) + Multiplex
. (3) pnstloe ~ (3) ‘Duplex .
' (4) attractiong (4) Caravan '
‘ (5) _ Not attempteq " (6) Not attempted
. RAMA/A1/Page 14, i
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pick out the éorrectly spelt word.
§) Outregeous '

(2) Qutrageous

3) Qutragous

(4) Outrajious

(5) Not attempted

Choose the correct passive voice form of the

517.
" following sentence.

Pick out the correct indirect speech form of the

“I have bought a house,” he said.
1)y
(2)
(3)

He said that he had bought a house.
He said that he has bought a house.
He said that he boﬁght, a house.

B4. . (4) He said that he would buy a house.
following sentence.. Not attempted
heetal will have finished the work, ol
(1) The work is finished by Sheetal.
" (9) The work will be finished by Sheetal. 58. Choose the most appropriate. prep031t1on to fill in
(3 The work: will have been ﬁmshed by| ~ the blank.
“Sheetal. She succeeded dint of perseverance and
(4) sheetal will ﬁmsh the work in due time. " hard work.
ittempted ; -
(5) Nota | g (1) for
55. Rearrange the following parts of a sentence (2) from
labelled - as PQRS to make ‘a meanmgful (3 by
sentence. ; o E
4) ¢
P. deedsis to be ( ) g i
Q. onto the future (6) Not attemptefl
R.  the power of noble K h _
- 8. preserved a:ndfpas'sgd |59. The old man is looking forward the
(1) RSQP : - visits of his grandchildren.
2 SQPR s (1) for
(3 PQSR | (9 - ia
(6) Not attempted © 4
. L " R - (4) with
56._ Pick out the part of the sentence which has an - Nat abtamipned
error. If there is no error, your answer is (42. , Al
.' The simplest method
- “"‘“—'———-—A | _ 60. F111 in the blank with the appropriate option
of welding two pieces of metal together : giyer helew,
e . : - ‘The Battle of Waterloo was won of
. Et
Esl‘_nmis_pressure welding: o
L (D W1th the play ﬁeld
Ayl e ~(2) on the playing fialds
(@) B ", (8) for play fielded
Ei; C | (4) in the played
- No error (6) Not attempted
Not attempted
- Ramavag IPage 15 <% @ % Forg T | SPACE FOR ROUGH WOR _
N =
O
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61. ﬁﬁmﬁmﬁwmﬁw | @ A
II /(1) i @ gy (2)'_341‘5-%@%7
() 18 g | @ smawmyE
- G @ i
R A %m | () T
| o (5) SW
| o o - 6. ‘a}wﬁﬁmaé’w'}hﬁ""-ﬁm“h
62 W-Wﬂﬁ‘wmﬂaﬁ: Hifv |
Q) E@W@m o (1) I
DN ks (R
Ll BT ¢  J S
@ mewwﬁm_ AL | @
] st e o A

. .asﬁ'—lmamw%trﬁ mqﬁ%aﬂtﬁﬁaﬁ

67 m’w%maﬁamﬁﬁwﬂw?ﬁ?
| ©d? . , A

‘. @ @ 5 @ wd
A o o g AR
& AW R oo g0 mqﬁiﬁﬁﬁ

| 64. .ﬁﬂﬂ@.mﬁﬁf ..x’x |68, ﬁw%f@amﬁﬁ@gamfﬂwﬁﬁm

ouEEshE. 0| O T

@ wafE I i 8 ol (2')_ o \%y\

@ wabE. | e u{(‘é‘ 1

@ walhim 1 @ s N

(5) I T A RS & ok |
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ﬁqﬂﬁm w7 d 1 TG T

AT .

70, ‘g

7.

™

e VT -

;(8). L
T L

ﬁgﬂfﬁﬂﬁﬁ'&gmg&u

qeg # fEr s ﬁwqﬁr%mqﬁqm

m%?
@ a{ﬁﬂ?ﬁw

@ WW s
(B aﬂmr:ﬂam

(4) S R
(5) 3T &R

e o 1 R s g A ¢
(1) =, ot W aaqtzﬁmmmmlf

@) %'Eﬁ?ﬁ "gHT 3T |

3 %%ﬁ:ﬁﬁTﬁnwﬁmﬁaﬁﬁ%t
() ama‘)w@'ia»‘rﬁtrzm vﬂ@maﬁﬁm

| 5 (5) Wﬂﬁ?‘iﬁnﬁﬁ

T

(D ™o

|75,

73.
‘_/

74.

(1)

@) .

(3

" (4)

(5)

mﬁnﬁmmaﬁ%

CIE L

oA

.

- 3 Al o T

ﬁqmﬁamﬁmﬁawmﬁmmm

Em%7

(1

@2

- ®

gagétﬁma%ﬁ?@f% |

g o 21 &t oft g & fare
3 fae A A F

(5) IR TE T ==
Bl ¥ agamﬁ%’#m%ﬁ?ﬁw%m

: T meﬁwmﬁﬁﬁnwﬁﬁql

& €))

3

I' . || offq

O @ @i
@3 Qq; L e @) W |
@ ®sw (5) I TE 2 R
_® o e | |
m T < @ % foT T | SPACE FOR ROUGH WORK
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Which language was accorded the StatUg

.76. 2010 ﬁﬁﬁawaﬁgﬂm"naﬁggﬁmmaﬂzﬁf 76.
e a2 second official language: }n Haryana in 2010
(1) ssh (1) English
) 37 - (2) Urdu
S (3) gurst (3) Punjabi
(@) gﬂmma‘r (4) Haryanvi
(5) 3T-R' EHi a:n El'lﬁa (5) Not attempted
7. ﬁﬁlﬁf{%?f ¥a ‘Eﬁ?{TUTI e aqﬁﬁ‘ca' £ @'@ gﬁ ﬁ'ﬂ’ 77. Which among the following per-stmaiities
# 2022 =1 a1 o qET SEH - 7 Haryana réceived the Padma Shri award,
(1) @ fiE : . in the field of sports ?
. (1) Sandeep Singh
' ((j)) 32_: :_:j (2) ' Sumit Antil
: - (3) Bajrang Punia
il ﬁg 4) Yuvraj Singh
:(5) I A < Tﬂgﬁ (5) Not attempted
78, a1 T Sifae ST (ﬁ'@ﬁ) I W fept = ‘;8. In which year was SAI National Boxing Ac;
G LE S : -  (Rohtak) inaugurated ?
L) PR s (1) 2019 '
2y 2018, (2) 2018
(8 2016 (3 2016
(4) 2017 @ 20'17 .
(40 o qﬁ aT‘IT EI'IEZ:I‘ ' -(5) _-Not‘attémpted
e ﬁﬁﬂﬁf Fﬂm gﬁﬂ‘r 3Tﬁ'l’€f Eﬁmﬂ“ % %H TFTEI ﬁ Eﬁﬂ 79. Sportsperson Seema Pum’a" Antil hails
T@-ﬁ L TR which village in Haryana ! 7
_(1) m 1) .Ujhana
> ETEIT . (2) Khandra
@ s (3) Khewda
R L ) Kaluwas
(5) T %HT T-ng?l (5) Not attempted
80 ;g:nﬁ ﬂ?ﬂi # Tr% | Eﬁ'ﬂ'f”ﬁl ﬁF‘q H’f’l aq TI"%CW 80. Which Haryanvi film released in 2015 %
" ;En Qm%q-‘ﬂ (. two National Awards ? :
@ <RaRg (1) Beera Shera ,
@) T o : (2) Chand Chakori,
(4) R GeEe (3) ‘_-Pag.di |
(5) Wqﬁa;“% gl (4) Veer Ghatotkg}ch'
RAMA/A1/Page 18 —\___;_q?__ (5) Not attempted
| . TR T 3 forg v / SPACE FOR ROUGH WORK
{
‘ _
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qugmaﬁmiﬁam ST R ?

Y o

3%

(1)

@)

@ ’ﬁ“ K

(@) B ' &

(4)"&7;(( ; ﬁ \‘Y
T T ST <R b

® . |
Wwﬁﬂmiﬁmﬁa IR e @ wwl
37 |
(1)
@)
(3)

HA T
o T
e &
(4) TR |
(5) I TE <A e

Sy ot ® e iR
@ =, g & fififa e =T e d )

s

(b) w%wﬂ?ﬁgﬁmz‘smﬁaﬂwm -

 §
mﬁiﬁﬁﬁﬁqm/ﬁmﬂ‘é’r%/%?
Fad (a) -
Fad (b)
(2) T (b) BFT
(a)qa(h)ﬁﬁahéﬂﬁf

1770 £ & Tofie-gdren 9 %?-?ﬂa_'m

@)
@).

®)

35,

RAMA/AHPage 19

(5)

(1)
)
(3)
4)

HEHT TR FAITAN
EE
wEreST fafemn
S T <A AR

'Mﬁgﬁgmsﬁaﬁﬁmﬁmw

81.

82.

83.

. (4)
(5)

85.

(D

- (5)

(m

- (6)

®

Where is the Chhaj ornament worn by women ?
Forehead

Neck

Hand

Waist

Not attempted

(2)
(3
4)

Which dance form of Haryana is dedicated to
Shiva and Parvati ?
Manjira Dance
(2) Lasya Dance
(3)

(4)-

Ratwai Dance
Gangor Dance
Not attempted

C'onsidef the following statements :
(a) Chope is a style of shawl manufactured in
Haryana.

(b) This'shawl style is also known as Phulkari.
Which of the statements given above is/are
correct ? '

(1) Only (a)

(2) Only (b)

(8) - Both (a) and (b)

Neither (a) or (b)

Not attempted

After the death of Najib-ad-Dawlah in 1770 AD,

“who ascended his throne ?

(1)
(2)

Ahmad Shah Abdali
Jabit Khan

Najaf Khan ,
Mahadji Scindia
Not atteulpted

(4)
(5)

When was the famous Badkhal lake of Haryana

q1 ? developed ?
1) a§ 1940 i (1) In 1940
(2) g 1947 (2) - In 1947
(3) a¥ 19507 (3) In 1950
@) 9419745 4) In1974
(5) I a:n e (6) Not attéempted
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names in Column II :

TETOTIRMITL L gy Y Gl 1T "
e I3 ﬁ{t{ﬂq‘j:%:naiq% %@%& 'H bryarradﬁlﬂs @Ven in Column I with the“, "
: - | W,

- FITHI - #ied 11 -
¢ e - ‘ |+ ColumnI - Column 1
I - % éxlilw“”- | L Sairishaka a. Sirsa
IIi EaiiesSio b- , | ., IL~ Kanoud g b. Kaithal
. s c Ell:“ d
N III. Kapisthal c Panipat
V. digwe LA _ . :
‘ . d | ™ | v. Panduprastha  d. Mﬂhendragarh
O e e B (1) I-b; Ti-¢; 1I-d; IV-a -
(@) I-a; II-d; II-b; [V—c | @y ma T sy IV=e
(3 I-d; T-a; TI-b; IV ' " (@) I-d; TI-a; II-b; IV—c
(4) I-c ILb; Il-a; IV-d @ I II-b; I-a; IV-d -
(5) 3@; qgﬁf Eel T—-IT'@'?T . kT ' . (5) Not attempted
2 g7, s Baba Ladaana Tirth Sthal si
g7. sl weMT e T el ﬁﬁﬁ‘% A e R Sl 81 z:le_r;ls Ba. A .
! ewarl
1. @& _ "
(2. Gﬁa Lo e N n el Eiiss 7 B ; (2) Jind
| (_3) :-am o 2 . ; (4 Knithal
[ e S ST g ' (5) Not attempted
G) mqﬁ%ﬂa@ ' |

88. Which of the following committees is |

" appointed by the Panchayat Samiti accordx
Chapter X of the Haryana Panchayati Raj:
1994 ? |

88. gftmunwma‘?maﬁ‘aﬂm 1994%31%211'&3(% |
7 aﬁmﬁnﬁrf@ﬁﬁﬁﬂwﬁaﬁﬁwmqﬁﬁgm___

fraw 727 Hiomdt? L o [
: S R Y o B B 1 t
iy m‘%ﬁ = ’érﬁ:fﬁ Nt T O (1)  Social Justice Committee
@ ﬁ ﬁ T e PR (2) ‘General Committee
o @ 'ﬁﬁ i : ' (3) Health and Welfare Committee
s | (4 Finance, Audit and Planning Committe
@ ﬁaé@qﬂm(aﬁz)mmqﬁﬁm b S e
5) mqﬁ%ﬁﬂﬁlﬂﬁ . Not attempte
: ' 89. When was the first pernjanent Lok Adala® ¥
8. ﬂ’(munﬁ S e
i %ﬁ%ﬂlﬁ?ﬁmmﬁwaﬁg—g? - inHaryana?
B 17 Sy : .-
® 10w 1955 i (D 17" January, 1955
e G | @ 10 May, 2005
(4)  179m 1960 . p ke | o .(3) 7" August, 1998
6) IRy ¥ (4) 1% November, 1966
"~ (B)  Not attempted L

RAMA/A1/Page 20 s —————
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‘ , Join Telegram Group "HaryanaJobs in"™
e fra R T waifers o Bfag oo
90. ) ' . 90,  Which district of Haryana recewes the hlghest
' (1)- feam rainfall ?
(2) et S : (1) Hisar
@ FET ) e (@ Ambala
@) ﬁ'm;ﬁ . ‘ ' o ® Kurukshetra
(5) K T8I A1 =Rd o ' : ; (4) Bhiwani
- = : 5) Not attempted
, o d T T AR HE Ry, A . .
- By {1} frem ) & . |91. - Where is the Blue Bird lake ]ocated in Haryana ?
‘@ o | al Hisor |
3) W . _ : (2} Jind
@) T ' o ~ (3) - Faridabad .
(5) IR A 3 =R o &) Karnal
A . (5) Not attempted
. sfo ot e R . g N
92. a0 e s ) ; , 92, '(I:';e cl(i:ma;e of :—I??rana is :
; 5 shivert ; _ : . ontinental type
& T " (2) Sub-Humid Temperate type
3) ITwiiE Ik TR weR : . = . -
; (‘.4) ! i . _ ~(8) . Sub-Tropical Dry Continental type
' i o ' . (4) - Sub-Humid Sub-Tropical type
6) ET'lI Tl _ e _ (5) - Not attempted
93. N TF FAM H whAw feeRt T2 OB H /g3 What is the One Time Cash Award for Mahavir
" g fon S 7 2 Chakra Awardee? 7
(1) 7 2,00,00,000° ' (1) ¥ 2,00,00,000
. (2). ¥ 1,00,00,000 " - . PR 0000
(3) -¥ 4,00,00,000 , ' e . ; {8y F 4,00,‘00’000 '
(4) % 6,00,00,000 o, 5, . | @ 26,00,00,000
(6) I A AR . "7+ | (® Notattempted
o demmETsTustFI®? | |94 What is the State Bird of Haryana ?
(1) =g - : _ (1) House Sparrow ' w
2) W SR e e x| @) Great Egret
@) wiRueh @msE) . () Humming Bird -
@ wFerde - . |+ @ Black Francolin
(5) " I T 0 AT . | ® Notattempted _
95, {’a;g e ﬁ‘gm %T R’ a1 STl 22 . |95, Whlch city is- known as the Hearl; of Haryana’ ?
O FEr . .. Ty oo efsskee) - Ambala :
@ e ; : _ RS (2) 'J;nd
@) e (o) : TG ¥ s (3) Gurgaon (Gurugram)
A 3o m . Wy : | . (8) Notattempted
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96.

98.

R T o % frdia-ad 2022 - 28 # T T
Wﬁﬁmuﬁsmﬁm%éﬂﬁm%gﬁu’rﬁﬁw

al Y

96.

naJobs.in"

‘What is the percentage of the total exp,
allocated towards Education in Haryasnd
Budget for the financial year 2022 - 23 » Staie

_ TR ?
(1 182% ((;; igjz?
(2 164% o
(3) 14:2% (3) 142%
(4) 152%
I e (5) Not attempted
: (5) e A &A@ .
| ) - 97.  What is the total number of electricity cons |
97. i@ d foga - zﬁr 3»‘6 g 2021 — 2296 | . in Haryana till 2021 - 227 ey
fopert 8 7 _ | (1) 68,557,609
(1) 68,57,609 (2) 71,17,334
@) 171,17,384" (3). 72,17,283
(3) 72,17,283 (4) 173,07,992-
4) 73, 07,992 (56) Not attempted
(6) S® _ <A arg?r - |98. How many. District Lével Treasunes are therei;
sl wde, 2021 — 22 2% 34381? e & | gjg:;az 02"1‘3“";1;”5 to ‘the Haryana: Econm
W%ﬁﬁw;ﬁﬁuaﬁwmﬁ? | 2y 28
) 25 ' @ 22
(2) 22 ... —
3) 23 5 @ 24
(4) 24 _'(5) Not attempted
Ry 7|'6°f a:n arga 99. How many v1llages have been assoc1ated with
%. “ﬁm T, ST Tta’ T 3T-‘ci1f?r Gﬁ‘cl“ﬁ 2022 qh | ‘Mhara Gaon, Jagmag, Gaon’ Scheme till Januar
forert ridl a‘m a1 8 ? ‘ 20227
(1) 3216 (1) 3,216
(2) 5569 (2) 5,569
@) 4806 3) 4,806
" (4) 3,560 (4) 3560
®) I (5) Not attempted
100. Zfeaon & W 100. N atl;l‘onal Beekeeping and Honey Missit
A ;T?a:a%a aﬁg? g forerd (NBHM) 2 (NBHM) Scheme was started in which year ”
1) 2029 Haryana ? - _
@ 2018 (1) 2020
® “2019 (2) 2018
ol 3) 2019
6) MR wmam @) - 2017 | -
RAMNAT/P&gezz\ (5) Not attempted //
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